K H BE R OR
BKAEA A 20214E10/ 121 KHE K &
Bk B BT | RAKK | RHRECKK | sessonmki] T EROKK | RERUKK | BIRRKK
R E AR | KRR | KR | RRRRAR | RRRKR | RRRRAR el
ok WA 9:25 11:30 10:05 10:25 10:50 9:45| (mg/LBAT)
B TS 23.6 26. 2 26. 5 27. 2 26. 3 24. 0
K i (O 25. 2 24. 2 25.0 25.2 26. 2 26.4
- fise il 0 0 0 0 0 0] 100f&/mo AT
x ) BT BT | RES | s | R | Ry T
HEIvLARGZOLAY]  <0.0003]  <0.0003|  <0.0003]  <0.0003|  <0.0003|  <0.0003| 0.003
K g KOz o fe & 1] <0.00005 <0.00005] <0.00005| <0.00005] <0.00005 <0.00005] 0.0005
tELrRUBZOkED <0. 001 <0.001 <0.001 <0.001 <0.001 <0.001] 0.0l
R Z DAY <0. 001 <0. 001 <0. 001 <0. 001 <0. 001 <0.001| 0.0l
EXRCZ O EW <0. 001 <0.001 <0.001 <0.001 <0.001 <0.001] 0.0l
Al 7w b b ! €0.002|  <0.002|  <0.002|  <0.002]  <0.002|  <0.002| 0.02
oW m B ® K <0.004|  <0.004]  <0.004|  <0.004|  <0.004|  <0.004| 0.04
ST ALRMR ML T <0. 001 <0. 001 <0. 001 <0. 001 <0. 001 <0.001| 0.0l
S 2 6 O P 2 0.9 0.9 0.9 0.9 0.9 0.9] 10
A7 v RRVZ DAY 0.08 0. 09 0.08 0. 09 0.08 0.08) 0.8
AU RECE DAY <0. 1 <0. 1 <0. 1 <0. 1 <0. 1 0.1 1.0
Mo fe B # <0.0002]  <0.0002|  <0.0002|  <0.0002|  <0.0002|  <0.0002| 0.002
L= Y A X ¥ v €0.005|  <0.005|  <0.005]  <0.005|  <0.005]  <0.005| 0.05
el e L RY €0.004|  <0.004|  <0.004|  <0.004|  <0.004|  <0.004| 0.04
Y 7 mom A v €0.002|  <€0.002|  <0.002|  <0.002]  <0.002|  <0.002| 0.02
FRI/muxF LY <0. 001 <0. 001 <0. 001 <0. 001 <0. 001 <0.001| 0.01
WEEEEERE <0. 001 <0. 001 <0. 001 <0. 001 <0. 001 <0.001| 0.01
~ v % <0. 001 <0. 001 <0. 001 <0. 001 <0. 001 <0.001| 0.01
H % B 0. 06 0. 06 0. 06 0. 06 0. 06 0.06| 0.6
sy m m B €0.002]  <0.002|  <0.002|  <0.002]  <0.002|  <0.002| 0.02
klZ 7 = & A 0. 003 0.003 0.003 0. 004 0.003 0.004| 0.06
Y 7 8 B W B <0.003]  <0.003|  <0.003|  <0.003]  <0.003]  <0.003] 0.03
YT aE s mn Ay 0. 005 0. 006 0. 005 0.007 0. 005 0.007| 0.1
5 # Bt 0.003 0.003 0.003 0.003 0.003 0.003| 0.01
# kU | A H 0.013 0.016 0.015 0.019 0.014 0.019] 0.1
b U 7 o\ om B €0.003|  <0.003|  <0.003|  <0.003|  <0.003]  <0.003| 0.03
w|7 B EV s mE Ay 0. 004 0. 005 0. 005 0. 006 0. 004 0.006| 0.03
7 o % & A A 0.001 0. 002 0. 002 0. 002 0. 002 0.002| 0.09
KA h T T e R <0.008|  <0.008|  <0.008|  <0.008]  <0.008]  <0.008| 0.08
RO E O A <0. 1 <0. 1 <0. 1 <0. 1 <0. 1 0.1 1.0
A=Y AROEOLEY <0.01 <0.01 <0. 01 <0.01 0.01 <0.01] 0.2
%K Gz 0B w <0. 03 <0.03 <0. 03 <0. 03 <0. 03 <0.03] 0.3
HW R U oA Y <0. 1 <0. 1 <0. 1 <0. 1 <0. 1 0.1 1.0
FhU Y LARGEDLAY 16. 2 16. 1 16. 2 16. 6 15. 6 16.4] 200
Y HYREE DAY 0.001 0. 001 0.001 0. 001 0. 002 0.001| 0.05
ok w4 > 16.2 16.3 16.3 16. 6 16.5 16.5| 200
BV h T Ay YL () 41 42 41 43 43 42| 300
" R R H D - - - - - - 500
B o 4 RO A <0. 02 <0. 02 <0. 02 <0. 02 <0. 02 <0.02| 0.2
Y = A4 A 3 | <0.000001] <0.000001| <0.000001] <0.000001| <0.000001| <0.000001| 0.00001
2= 4 F w4 & b4t - <0.000001| <0.000001] <0.000001| <0.000001| <0.000001| <0.000001| 0.00001
A A4 v R @ IE A - - - - - - 0. 02
7 = s — o gl  <0.0005]  <0.0005|  <0.0005] <0.0005|  <0.0005|  <0.0005| 0.005
£ (T0C o &) 0.6 0.6 0.6 0.6 0.6 0.6 3
pH  ff 7.3 7.3 7.3 7.3 7.3 7. 3| 5. 801 k8 6L T
S REmL L R L L RERL RERL | RETALIL
5 & BERL HH L BHERL e RERL RELL | BETALIL
2 [ <1 <1 <1 <1 <1 1| sEnT
i E <0. 1 <0. 1 <0. 1 <0. 1 <0. 1 0.1 28T
HHEODE (RBEH) 0.7 0.8 0.7 0.5 0.6 0.6] 0. Ing/LELE

£

.
E

KRERECEE

i =




